Diploma in Astronomy—First Term 2005-6

DP11 Foundations of Astronomy: Problem Paper 1. Model Solutions
8th November 2005

Solutions were to be returned by Tuesday 8 November. After that date they can be accepted,
but once model solutions are posted, they cannot receive credit for marks (but can count
towards completion of the course). The weighting for each question is given in ().

1) A new “dwarf” galaxy has been discovered. The new galaxy is located 10 Mpc away from
us, and has an angular diameter of 200 arcseconds. What is the physical diameter of this galaxy
in parsecs (pc)? in kilometres (km)? How many years does it take light to reach us from the
galaxy? (10 marks)

. : _ ad __ 200 arcsecondsx10 Mpc __ 200 arcsecondsx10” pc __
Answer: The distance D = 506 265 — 306,265 = 206,265 = 9696 pc

9696 pc = 9696 pe x 20TXI0T ki _ 9 g9 x 1017 km
pc

1 pe=326161y so 10 Mpe x 10ES x 220061 — 39616 x 107 ly

so it takes light ~32.6 million years to reach us from this galaxy.

2) A certain star has a peak intensity of its light at Ap.x = 200 nm. What wavelength region
does this correspond to? What frequency (v) does this wavelength (\) correspond to? What
is the temperature of this star (in kelvins)? How many times brighter (or fainter) is this star
than our sun? (10 marks)

Answer: From Figure 5-7 in the book, we see that 200 nm is in the Ultra-violet (UV) portion
of the electromagnetic spectrum.

first change 200 nm to meters — 200 nm X 2= =2 x 10™"m
Amax = S0BKm 7 — 0029Km _ 8029Km 14 500K
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so, even if the star is less than 3 times hotter than the sun, it is 39 times brighter!



